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Mon 12th 
N-S 
1st 
Petter & Arnt
62%

2nd
Sean & Jeremy
59%

E-W
1st 
Ivy & Terry
62%

2nd
Terje L & Rolf
58%

Wed 14th  N-S 
1st 
Hans V & Par
59%

2nd
Bengt & Bam
54%


E-W
1st 
Olaf & Frode
58%

2nd
Jens & Kristinn
56%
Fri 16th    
N-S 
1st
Alan K & Jan
59%

2nd 
Bob P & Robbie
59%

E-W
1st 
Terje L & Rolf
65%

2nd
Ivy & Dave C
54%

Bidding Quiz

Standard American (short ♣) bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A RHO opens 1♥, what do you bid?
♠ K972
♠ 53


♥ Q84
♥ A53
With Hand B LHO opens 1♥ and partner doubles and RHO bids 
♦ 65
♦ KJ87
1♠, what do you bid?
♣ AK64
♣ 10973
I was asked about hands C and D:

Hand C
Hand D
What do you open with Hand C?

♠ J92
♠ 84


♥ AKQ98765
♥ K6
(a)
What do you open with Hand C?
♦ A9
♦ A43
(b)
What do think of a (15-17) 1NT opening?

♣ -

♣ AK10642

Bidding Sequence Quiz


E
1♥
2♣
2♥
pass

What is 2♥?
F
1♥
2♣
3♥
pass

What is 3♥?
G
1♥
2♣
3♣
pass

What is 3♣?

H
1♥
2♣
2NT
pass

What is 2NT?
J
1♥
2♣
dbl
pass

What is dbl?
A little bit of luck




Board 7 from Monday 12th  
Both West and East at table A went wrong in the bidding here – but they lucked out into the top contract!

Dealer:
♠ QJ106



Table A
South
♥ 96

West(A)
North
East(B)
South
Both vul 
♦ Q1032

-

-

-

1♥

♣ J52


dbl
(1)
1♠

2♣
(2)
all pass

♠ K972
N
♠ 53

Table B
♥ Q84
W
E
♥ A53

West(A)
North
East

South
♦ 65
S

♦ KJ87

-

-

-

1♥
♣ AK64

♣ 10973
pass
(1)
1♠

1NT

all pass


♠ A84




♥ KJ1072






♦ A94




♣ Q8





Table A:
(1)
What did you bid with this West hand A in this week’s quiz? This double is a 



poor bid because you are completely fixed if partner bids 2♦. An initial take-out 



double should be playable in the three unbid suits (or very strong).



(2)
What did you bid with this East hand B in this week’s quiz? You obviously have 




enough for a free bid – but 2♣ or 2♦? This 2♣ bid is a poor choice – not 




necessarily because the ♦’s are better than the ♣’s, but because if the opponents 




push you up you are good enough to bid again. So bid 2♦ now and 3♣ next go 




(if there is a next go).

Table B:
(1)
Most West’s correctly chose to pass in answer to question A.

The bottom lines:

· Do NOT double 1♥ just because you have 4 ♠’s – you have to be able to cope with a 2♣/♦ response from partner.

And what happened? 2♣ at table A made +1 for a somewhat lucky good score,
Easy Play Problem
Dave’s columns are usually fairly difficult. This one is very straightforward but I kNow that at least one player got it wrong on Monday. Can you get it right now?

West
East

West

North

East

South
♠ 10862
♠ KQ972

-

1NT

2♠

pass
♥ A643
♥ Q
 

3♠

pass

4♠

all pass
♦ Q942
♦ A3

♣ AQ
♣ J10985

You are East, declarer in 4♠ on the ♥10 lead. What is your basic plan to make the contract?


Easy Play Column Answer


Board 5 from Monday 12th Dec.  
It’s not often that you get to bid a game when an opponent opens a strong 1NT, but three pairs did on this board.
Dealer:
♠ A85



Bidding



North
♥ KJ5

West

North
East

South
N-S vul 
♦ KJ865

-


1NT

2♠
(1)
pass


♣ K3



3♠

pass

4♠

all pass


♠ 10862
N
♠ KQ972
(1)
♠’s and a minor. I would make the same bid

♥ A643
W
E
♥ Q
 
if it showed only ♠’s.
♦ Q942
S
♦ A3

♣ AQ


♣ J10985
 


♠ J6





♥ 109872




♦ 107




♣ 7642
Plan the play for declarer on the ♥10 lead.



You know from the bidding that South has at most one point and so North has the ♥K and ♠A. Obviously you want to draw trumps and the way to do that is to lead ♠’s twice from dummy up to your ♠KQ.

So win the ♥A and lead a trump. North will duck and you win the ♠K (do not risk a totally unnecessary ♠10 finesse – there’s just room for South to have the ♠J). When the ♠K wins enter the dummy with the ♣A (there is no point in taking a finesse that you know will lose) and lead another ♠ towards your ♠Q. It does not matter what North does. In practice he will probably rise with the ♠A and lead a ♥. You ruff, draw the last trump, concede the ♣K and claim the rest. You make the contract +1 with four ♠’s, one ♥, one ♦, four ♣’s and a ♦ ruff in dummy (having discarded three ♦’s on three ♣’s. 

The problem is completely different with an initial ♦10 lead and declarer can indeed go down if North rises with the ♠A on the first round, cashes his top ♦ and continues with a ♦ - declarer has to ruff high but it seems right to ruff with the ♠9 and that’s an unlucky one down.
And what happened at the Pattaya bridge club? Three pairs bid and made the game, one bid 2♠ and made 11 tricks, three declarers made 9 tricks and one only 8 tricks.
Dave’s Column
North
South

West

North
East

South
♠ AK432
♠ 765

-



1♠

pass

2♠
♥ 73
♥ AK54
pass

4♠

all pass


♦ K3
♦ 864


♣ AQ72
♣ 653

East leads the ♦J opening lead with the ♦A and returns the ♦5. Count your losers. You have lost a ♦ and must lose at least one trump. That leaves room for only one ♣ loser. If the ♣ finesse loses you are in trouble, but it wins. But the suit breaks 4-2 and you have two ♣ losers unless… ?
Dave’s Column Answer



Board 17 from Wednesday 14th Dec.  
Dealer:
♠ AK432



Bidding



North
♥ 73

West

North
East

South
Love all 
♦ K3

-


1♠

pass

2♠


♣ AQ72



pass

4♠
(1)
all pass


♠ Q109
N
♠ J8
(1)
This is an overbid, a 3♣ game try looks right to

♥ J108
W
E
♥ Q962
 
me (Terry) and South should decline.
♦ AQ5
S
♦ J10972
 
♣ K1094


♣ J8
 


♠ 765





♥ AK54

East leads the ♦J opening lead with the ♦A and returns


♦ 864

the ♦5. Plan the play after winning the ♦K.

♣ 653



To succeed you need trumps 3-2 and the ♣ finesse working. With the ♣’s 4-1 you need to ruff the 4th ♣ in dummy without being over-ruffed by a player with a doubleton trump. To achieve this, it is necessary to avoid having dummy’s last trump extracted prematurely. You must time the play carefully. Duck a ♣ at trick three, conceding a trick that you must lose. You can win any return, cash two rounds of ♠’s, cross to dummy in ♥’s and take the ♣ finesse. When it wins, you cash the ♣A and ruff the 4th ♣ when the ♣’s do not split. If an opponent ruffs the third or fourth round of ♣’s it will be with a trump winner and you have no other losers.
Dave’s 2nd Column
West
East

West

North

East

South
♠ 854
♠ AKQ3

-

-

1♣

1♥
♥ AQ3
♥ 64
 

3NT

all pass
♦ K976
♦ Q2
 

♣ A92
♣ Q8764

You are West, declarer in 3NT. North leads the ♥5 to South’s ♥K, plan the play.
Dave’s 2nd Column Answer

Board 18 from Wednesday 14th Dec.  
Dealer:
♠ 92

Bidding


East
♥ 752

West

North
East

South
N-S vul 
♦ AJ10543

-


-

1♣

1♥


♣ 103



3NT

all pass
♠ 854
N
♠ AKQ3


♥ AQ3
W
E
♥ 64
 
♦ K976
S
♦ Q2
 

♣ A92


♣ Q8764
 


♠ J1076





♥ KJ1098

North leads the ♥5 and South plays the ♥K which you 

♦ 8

duck. You win the ♥ return with the ♥A and North  

♣ KJ5
plays the ♥7 (MUD).


You must bring in the ♣ suit to make the contract. Taken in isolation, your plan for the ♣ suit would be to cash the ♣A and play low towards dummy, hoping that North has the ♣K. But South has overcalled vulnerable with what appears to be a 5-card suit so he must have high card points elsewhere.
A better line of play is to lead the ♣2 from hand at trick 3, inserting dummy’s ♣8. Assuming this fetches the ♣10 or ♣J, win the ♥ continuation and enter dummy with a ♠. You then play the ♣Q hoping that the lie of the cards is as in the diagram. If so, you will smother North’s now singleton ♣10 and make the contract. This is called an infra-finesse.
Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	1899.8 Hans Vikman
1838.5 Bob Short
1817.0 Janne Roos
1812.9 Sigurd Zahl
1800.8 Paul Quodomine
1771.9 Gerard Hardy
1769.5 Lars Broman
1763.7 Derek Tyms
1761.3 Alan Kleist
1758.1 Jan v Koss
	660.1 Hans Vikman
648.3 Bob Short
650.3 Paul Quodomine
639.8 Per Andersson
631.9 Lars Broman
631.6 Sigurd Zahl
631.5 Jeremy Watson
631.1 Janne Roos
627.9= Gerard Hardy
627.9= Derek Tyms
	335.5 Bob Short
335.1 Hans Vikman
332.2 Per Andersson
328.9= Gerard Hardy
328.9= Derek Tyms
327.4 Lars Broman
325.9 Jeremy Watson
325.8 Paul Scully
325.4 Paul Quodomine
322.6 = Dave Hurst
322.6 = Sean Burgess


The New Year’s Teams

The yearly teams event will be held on Sun 8 Jan provided 4 or more teams sign up. Please put your name(s) down (as an individual, pair or team) on the sign-up page on the notice board on the right as you leave the bridge room. The entry fee is 100 bht per person regardless of membership. 50 bht is automatically taken by the Bowling Green and the rest will be distributed between the two winning teams. There will be some sort of free buffet or lunch snack which has yet to be determined.

Remember, these results will count towards (next year’s) Championship results and the top teams usually get very good %’s at teams events.

Bidding Quiz Answers   
Hand A:
Pass. Do not double just because you have four ♠’s – you cannot cope with a 2♦ response from partner. A take-out double needs to be playable in all three of the unbid suits. 
Hand B:
2♦. You have enough for a free bid and probably enough to bid again if the opponents push you up. So bid 2♦, not because this is the stronger suit, but because you can bid 3♣ next go if pushed.
Hand C:
1♥. This is North board 1 from Wednesday. I was asked about a opening 2♣ - the hand is just one trick short of game but does not have enough HCPs in my style. That’s why I like to play Benjamin or Namyats. The hand  is far too good for a 4♥ opening of course but if you play Namyats then a 4♣ opening is OK. If you play Benjamin twos then 2♣ followed by 3♥ is the way to go.

Hand D:
(a)
1♣.


(b)
1NT is fine by me, but I suspect that most will open 1♣ and rebid 3♣.


One player insisted that opening 1NT with this hand is unethical.


This is totally wrong in my view, there are no rules against opening 1NT with


two doubletons or a six card suit and you can be +- 1 point outside your 


specified range. This hand is obviously worth more than 14 points so you can open a somewhat obscure 1NT if you wish, but you run the risk of an eventual NT contract probably being played from the wrong hand.
Bidding Sequence Quiz Answers


E
1♥
2♣
2♥
pass

After an overcall this can be a bit weaker than usual…
F
1♥
2♣
3♥
pass

… and this is best played as weak with four ♥’s…

G
1♥
2♣
3♣
pass

… with the  3♣ cuebid showing a sound raise to 3♥ or better

H
1♥
2♣
2NT
pass

2NT here is natural (+- 11), Jacoby 2NT is off after intervention.
J
1♥
2♣
dbl
pass

dbl is negative, showing four ♠’s.
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